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PART—I
( LANGUAGE )

Directions (Q. Nos. 1 and 2) : Fill in 5. Today is Sunday. The day before
the blanks with suitable articles like yesterday was
‘a’, ‘an’ and ‘the’ : (A) Tuesday
1. In this school, all students (B) Friday
are given free education. (C) Thursday
EA) an (D) More than one of the above
B) a
(©) the (E) None of the above

(D) More than one of the above

(E) None of the above 6. November comes after the

month of
2. I have a friend in Mumbai who (A) September
i(Z)— actress. (B) December
(B) :n (C) January
(C) the (D) More than one of the above
(D) More than one of the above (E) None of the above

(E) None of the above

7. Husband’s brother is
3. Which of the following is not

a river? (A) cousin

(A) Bay of Bengal (B) son

(B) Godavari (C) brother-in-law

(C) Ganga (D) More than one of the above

(D) More than one of the above
(E) None of the above

(E) None of the above

4. Which of the following is not 8. Mother’s parents are

a part of drawing room? (A) son-in-laws

(A) Washing machine (B) maternal grandparents
(B) Chimney (C) paternal grandparents

(C) Sofa set

(D) More than one of the above (D) More than one of the above
(E) None of the above (£) None of the above
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T < g qiTT B

(A) TR =1 9a gehe w91 wdw
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(B) fo=m =1 vma =t fafu-fugt o wehe
T ol W FEd ©

(C) foem a1 9 Yehe & w1 WIeH
e 2

(D) 39w | ¥ TH ¥ M
(E) 30 | ¥ 18
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(D) 3w W | TH § Al
(E) 39t o & g 7

T T HE-4T 87
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(D) 39w H ¥ UH ¥ M+
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(E) 3w # & g e
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PART—II
( GENERAL STUDIES )

31. The cost of 5 bats and 18 balls is
¥6,500 and the cost of 2 bats
and 20 balls is ¥4,200. What
are the costs of one bat and one
ball respectively?

(A) ¥850, 125

(B) €630, T115

(C) ¥780, ¥T150

(D) More than one of the above
(E) None of the above

32. A shopkeeper purchases an item
at 615 and sells it at ¥820.
What is his percentage profit?

(A) 25%
(B) 33-33%
(C) 35:50%

(D) More than one of the above

(E) None of the above

33. A hacker finds that the ATM PIN
of a person has first two digits
ranging from 3 to 8, and the
fourth digit is either O or 9. How
many attempts must the hacker
try in order to decode the PIN?

(A) 48
(B) 24
(C) 720

(D) More than one of the above

(E) None of the above
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34. The lengths of two sides of a
triangle are 8 cm and 9 cm, and
its area is 125 cm?. What is

the length of the third side?

(A) S cm
B) 9 cm
(C) 7 cm

(D) More than one of the above

(E) None of the above

35. There are 50 numbers. Each
number is subtracted from 53,
and the mean of the numbers so
obtained is found to be -3-5.
The mean of the given numbers
is

(A) 565
(B) 535
(C) 495

(D) More than one of the above

(E) None of the above
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36. The ratio of the ages of two
brothers is 4 :3. If the elder
brother is 6 years older than the
younger one, then their ages (in

years) are
(A) 24, 18
(B) 36, 30
(C) 15,9
(D) More than one of the above
(E) None of the above
37. The value of
1_1j o112t ...(1_1

2 3 4 n
is
(A) n-1

n
®) »

n

1
Cc)
© n+l1
(D) More than one of the above
(E) None of the above

38. The quadratic equation with

roots —1 and 4 is

(A) x2-3x-4=0

(B) x2+3x+3=0

(C) x%2-4x+1=0

(D) More than one of the above
(E) None of the above
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39. The Sun observation point of
Aditya-L1 satellite is
(A) L1
(B) L2
(C) L3
(D) More than one of the above
(E) None of the above

40. Ginger is an underground stem
and not a root because
(A) it stores food material
(B) it has nodes and inter-

nodes

(C) it lacks chlorophyll
(D) More than one of the above
(E) None of the above

41. The focal length of a convex lens

is f =10 cm. On immersing in
water, it will act as a

(A) convex lens of f; =10 cm

(B) concave lens of f; =10 cm
(C) convex lens of f; >10 cm

(D) More than one of the above

(E) None of the above
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42. Though water is transparent to

43.

visible light, it is not possible to
see distant objects in fog which
consists of fine drops of water.
This is so because

(A) fine drops of water are
opaque to visible light

(B) most of the light is scattered
to create apparent opacity

(C) light rays suffer total
internal reflection and so
unable to reach observer’s
eyes

(D) More than one of the above
(E) None of the above
Monochromatic light enters from
one medium to the other. Which

one of the following properties
does not change?

(A) Frequency

(B) Amplitude

(C) Velocity

(D) More than one of the above

(E) None of the above
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44,

45.

46.

The speed of an electron in the
orbit of the hydrogen atom in
the ground state is

(A) ¢
B) c/2
(C) ¢/137

(D) More than one of the above

(E) None of the above

A blackbody radiates energy at
the rate of E watt per metre? at
a high temperature T K. When
the temperature is reduced to
T/3K, the radiant energy
(in watt per metrez) will be

A) E/16
(B) E/27
(C) E/81

(D) More than one of the above

(E) None of the above

The acid which can destroy the
colour of acidic KMnO, is

(A) CH3COOH

(B) CeHgO7

(C) CH3CH,COOH

(D) More than one of the above

(E) None of the above
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47. Who was the writer of ‘Banglar
Mati, Banglar Jal’, which was
originally a protest song against
the Partition of Bengal in 1905
by Lord Curzon, and for which
the West Bengal Assembly
passed a resolution as the new
State Anthem recently?

(A) Kazi Nazrul Islam

(B) Rabindranath Tagore

(C) Sukanta Bhattacharya

(D) More than one of the above

(E) None of the above

48. Who is the architect of the new
Parliament of India building
inaugurated recently?

(A) Bimal Patel

(B) Rahul Mehrotra

(C) Yogesh Kapoor

(D) More than one of the above

(E) None of the above

49. Which one of the following
Indian films was screened at
the 76th Cannes Film Festival
in May 20237

(A) Anurag Kashyap’s Kennedy
(B) Kanu Behl’s Agra

(C) Neeraj Pandey’s Khakee
(D) More than one of the above

(E) None of the above
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50. Azali Assoumani, who attended
the G20 Summit in New Delhi as
the current Chairperson of the
African Union which has
become the newest member of
G20, is the President of which
country in the African Union?

(A) Republic of the Congo

(B) Gabon

(C) Comoros

(D) More than one of the above

(E) None of the above

51. When is the ‘Human Rights Day’
celebrated annually?

(A) 10th November

(B) 10th December

(C) 24th October

(D) More than one of the above

(E) None of the above
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52.

53.

54.

Who was the founder of Indian
National Army (INA)?

(A) Subhash Chandra Bose
(B) Mohan Singh

(C) Lala Lajpat Rai

(D) More than one of the above

(E) None of the above

‘Tana Bhagat Movement’ was
related to

(A) Dalit Movement

(B) Tribal Movement

(C) Peasant Movement

(D) More than one of the above

(E) None of the above

In which State is ‘Raksha
Bandhan’ celebrated as ‘Tree
Safety Day’?

(A) Madhya Pradesh

(B) Uttar Pradesh

(C) Bihar

(D) More than one of the above

(E) None of the above
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55.

56.

In which of the following states
is black soil found?

(A) Karnataka

(B) Gujarat

(C) Uttarakhand

(D) More than one of the above

(E) None of the above

How many types of species of

flora and fauna are there in
India?

(A) 81000 species of fauna and
47000 species of flora

(B) 70000 species of fauna and
50000 species of flora

(C) 50000 species of fauna and
40000 species of flora

(D) More than one of the above

(E) None of the above
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57. Minerals

58.

59.

23/MAV/M-2023-09/S3 (S)/116-A

are deposited and 60.
accumulated in the strata of
which of the following rocks?
(A) Sedimentary rocks
(B) Metamorphic rocks
(C) Igneous rocks
(D) More than one of the above
(E) None of the above
Which one of the following is a ol
leguminous crop?
(A) Pulse
(B) Jowar
(C) Millet
(D) More than one of the above
(E) None of the above

62.

Which two of the following
extreme locations are connected
by the East-West Corridor?

(A) Mumbai and Nagpur
(B) Mumbai and Kolkata
(C) Silchar and Porbandar
(D)

More than one of the above

(E) None of the above
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Stalactite and stalagmite
structures are formed by

(A) wind action

(B) underground water
(C) snow action
(D)

More than one of the above

(E) None of the above

April 22 is celebrated as the
(A) World Earth Day
(B) World Health Day
(C) World Ozone Day
(D)

More than one of the above

(E) None of the above

Topographical map of India is
prepared by which organization?

(A) The Geological Survey of
India

(B) The Survey of India

(C) The Zoological
India

Survey of

(D) More than one of the above

(E) None of the above



57. @fis fefafiga § @ form =g@ & @

58.

59.

H ST BT 87

(A) ST @gH

(B) ®Urafd =EH

(C) I =gH

(D) 39w | ¥ TH ¥ M=
(E) 39 o & 18 7

frafafea & 4 -0 & welleR
HHA 27

(A) =T

(B) w9

(C) =/

(D) 39w | ¥ TH ¥ M
(E) 39w & & &g 7
frefafad & @ a9-9 a1 TW A
7 -ufeerdt feem @ g2 #7
(A) =g ST AT

(B) =8 ST Hrcispr
(C) foe=r 3R IReeT

(D) 39Y® | ¥ TH ¥ M
(E) 39w & & &g 7
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60. TWoRRES TI ToWHES TR

61.

62.

17 (RN e Ao

EECIR

(A) WS FW

(B) a1 gRT

(C) =% gr

(D) 39w H ¥ UH ¥ M+
(E) 39 & & &8 7

22 39 I o &9 & W 87
(A) Tova geft feam

(B) fova w@men faaq

(C) Torva 7wt faaw

(D) 3w W | TH § Al
(E) 3udth # & 1S 7

A 1 TIATRIqR AHA hd diTeq
FRT SR ST 27

(A) AT AT e
(B) W wdagor

(C) Wt Jfor Tejeqor
(D) 39w H ¥ UH ¥ M
(E) 39w # & &8 7
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63.

64.

65.

66.

Who first described the Revolt of
1857 as the ‘First Indian War of
Independence’?

(A) V. D. Savarkar

(B) Bal Gangadhar Tilak

(C) R. C. Majumdar

(D) More than one of the above

(E) None of the above

Which of the following events
happened first?

(A) Santhal Rebellion

(B) Rebellion of Birsa Munda
(C) Tana Bhagat Movement
(D) More than one of the above
(E) None of the above

Which revolt is mentioned in
Bankim Chandra Chatterjee’s
novel, Anandamath?

(A) Sannyasi

(B) Pagalpanthi

(C) Indigo

(D) More than one of the above
(E) None of the above

When were ‘Swadeshi’ and
‘Boycott’ first adopted as forms
of struggle in India?

(A) Partition of Bengal

(B) Home Rule Movement

(C) Non-Cooperation Movement
(D) More than one of the above
(E) None of the above
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67.

68.

69.

70.

Who was the President of the
Indian National Congress at the
Gaya Session of 19227

(A) Chittaranjan Das

(B) Hakim Ajmal Khan

(C) Mahatma Gandhi

(D) More than one of the above
(E) None of the above

Who led the peasants of Bihar
during the Non-Cooperation
Movement?

(A) Raj Kumar Shukla

(B) Swami Vidyanand

(C) Rajendra Prasad

(D) More than one of the above
(E) None of the above

Who founded Hindu College at
Calcutta in 18177?

(A) Henry Vivian Derozio

(B) David Hare

(C) Jonathan Duncan

(D) More than one of the above
(E) None of the above

Who among the following said
that “Congress is to tottering to
its fall and one of my great
ambitions while in India is to
assist it to a peaceful demise”?

(A) Dufferin

(B) Minto

(C) Curzon

(D) More than one of the above
(E) None of the above



63. 1857 = fagie #I fohush g1 weeht aw 67. 1922 #, ENNd WRd™ T wEE &

‘g YR TEAAdn @ % &9 H T AfEYE % Feae w97

EIRLGREDIRICIRIN (A) FresH g

(A) o Fto AT (B) ehm e @i

(B) et WER feeteh (C) TTeT Tieft

(C) 3TRo Hio ASHR (D) 3wt & & Tk @ sl

(D) TIE § & wF ¥ e (E) 3ugh @ 4 g T

(E) S & P 7 68. s v ¥ dom el R
64, FrFrs Eoa drer o e et 6t ST <67

TEel E57 (A)  TISTHHR FA

(A) T fosre (B) =i frem=

(B) formn o1 = e (©) T wEm

(©) T e e (D) 39 W | TH ¥ Afeh

(D) 3UYh H § TF ¥ Al () 37 5 & 18 T

(E) 39w H | HIE T8 69. 1817 #, ol H feg wicw I
65. dfhn 9% =Sl 1 UMW, IH<HS ° v e

P e 1 5 47 Eg)) g@iﬁw

(A) W (C) SHIH €A

(B) et (D) =i i & T

(C) (E) 39w H § 5 T8

(D) 39w W | TH § Afeh

(E) 3 # & g e 70. T @ FrEt war o1 B w e
66. o A G % e & v d e e

wd ‘afeepr’ wia # e STOER T sﬁﬂﬁﬁmﬂéﬂi”?

(A) sme T (A) THE

(B) TW & 3MT<_rleH (B) fo=r

(C) sTHEaT e (C) s

(D) 39w | ¥ TH ¥ M (D) 39w | ¥ TH ¥ M=

(E) 3w & & 18 7t (E) 3udth # & #1$ T
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71.

72.

73.

PART—III
( MATHEMATICS )

2x-3 x-3
If (aj =(b) , then the
b a

value of x is

(A) 2
(B) 4
©) 1

(D) More than one of the above

(E) None of the above

If x—l=2, then the value of

(A) 38
(B) 36
(C) 16
(D) More than one of the above

(E) None of the above

The value of 27)/3 +243)"/5 is

(A) 6
B) 1
(C) 2

(D) More than one of the above

(E) None of the above
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74.

75.

76.

The LCM of x2+5x+6 and
X2 +4x+4is

(A) x+2

B) (x+2)(x+3)

(C) (x+2)(x+2)(x+3)

(D) More than one of the above

(E) None of the above

The sum of cubes of first n
natural numbers is

nn+1)
@ =
B nn+1)2n+1)
(®) .
nM+D2
(C)( 5 )

(D) More than one of the above

(E) None of the above

If the length of the shadow of a
pole on a level ground is twice
the length of the pole, then the
angle of elevation of the Sun is

(A) 30°
(B) 45°
(C) 60°

(D) More than one of the above

(E) None of the above



PART—III
( MATHEMATICS )

2x-3 x-3 . x2+5x+6 I x2+4x+4 Hw
N U PR TS B
LER (A) x+2
Aa) 2 B) (x+2)(x+3)
B) 4 (C) (x+2)(x+2)(x+3)

(D) 30 U | TH A Al
© 1 (E) 37 # & =18 7

(D) STF ¥ T ¥ A 75. S S S o A

(E) 30w § | w5 T (A) nn+l)
2
72. AR x- =2, A xte L wmEmy @ nrienty
X )C4 6
(A) 38 © (n(n+1))2
(B) 36 2
(©) 16 (D) 30w W | TH § Afh
(D) rm R ) w2 i
(B) S # @ =iE T
76. A guaa o W FREl @e H sEn d
73. 27)/3 +(243)/5 w1 M B g e s B A 8, o
T IFIF-HI0 2
(A) 6 )
(A) 30
B) 1 (B) 45°
(D) S # ¥ Tk @ Aferw (D) 37w § & uF &
(E) 3w § | =I5 T2 (E) 393 # & g T
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77. The value of sin3000° is 80.
V3
W
1
B -
B 5
J3
)
(D) More than one of the above
(E) None of the above
78. The empirical relationship
among mean, mode and 81.
median is
(A) mode = 3 median — 2 mean
(B) median = 3 mode — 2 mean
(C) mean = 3 median — 2 mode
(D) More than one of the above
(E) None of the above
79. If A is an event of getting 13 by 82.

23/MAV/M-2023-09/S3 (S)/116-A

throwing two unbiased six-faced
dice, then A is called

(A) a certain event

(B) a null event

(C) an impossible event

(D) More than one of the above

(E) None of the above

22

The probability of getting at
least a head by throwing three
unbiased coins is

1
A _
A 3
7
B —
B) 3
3
C —_
© 5
(D) More than one of the above

(E) None of the above

If A and B are any two events,
then P(AUB) is

(A) P(A)+P(B)
(B) P(A)+P(B)-P(AnB)
(C) P(A)P(B)
(D)

More than one of the above

(E) None of the above

The circumference of the base of
a cylinder is 44 cm and the
height is 22 cm. Its volume is

(A) 3388 cm?
(B) 968 cm®
(C) 3368 cm?
(D)

More than one of the above

(E) None of the above



77. sin3000° % 9 8

78.

79.

(A) f

1
B) 3

(C) —f

(D) 39w H ¥ UH ¥ M+

(E) 37 | ¥ #18

HTeA, Sgee SR WIS & se g
Tee I GRATG B A T B

(A) wgaH = 3 HIfEdhT — 2 WieA
(B) wifedsht = 3 Sigersh — 2 Hied
(C) wied = 3 wifedre — 2 "
(D) 39y | ¥ TH ¥ M

(E) 394w & & &g T

Ffe A a1 e sg-gelt 9wl e
W 13 UTH B i T2 7, O A I Hal
ST B

(A) uh fHfeed =

(B) TH [ =

(C) TH 16T Tl

(D) 39w | ¥ TH ¥ M
(E) Sudth § & #1$ T
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80. F Ty frh % ¥ FA-U-FA TH

81.

82.

23 [N Amr Ao

2 M ol UTRrehar @

a g

B -

© -

(D) 39w W | TH § AfUh
(E) 37 & ¥ 18 e

afg A ¥R B HE & HEAW F,
P(AUB)?

(A) P(A)+P(B)

(B) P(A)+P(B)-P(ANB)
(C) P(A)P(B)

(D) 39w H ¥ UH ¥ M+
(E) 3wt § & 1$ T

Teh dodd & STYR i qifer 44 do o
I FEE 22WoHlo Tl IHH
A B

(A) 3388 ¥ To Hio

(B) 968 ¥ Ho Hio

(C) 3368 = o Hio

(D) 39w W | TH § Afeh
(E) 39w # & &g T

[P.T.O.



83.

84.

85.
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The whole surface area of a 86.
24 cm long, 14 cm broad and
7-5 cm high cuboid is
(A) 2520 cm?
(B) 1260 cm?
(C) 1242 cm?
(D) More than one of the above
(E) None of the above
The value of
1 87.
5+71
6+ 1
10+ —
18
is
(A) 5400
(B) 5200
(C) 4800
(D) More than one of the above
(E) None of the above 88.

The internal circumference of a
circular park is 440 m. A track
of breadth 14 m is constructed
outside the park. The diameter
of the outer circle is

(A) 168 m
(B) 169 m
(C) 144 m

(D) More than one of the above

(E) None of the above

24

The ratio of the sides of a
triangle is 3:4:5. If the
circumference of the triangle is
144 cm, then its area is

(A) 684 cm?

(B) 764 cm?
(C) 864 cm?
(D) More than one of the above

(E) None of the above

The areas of a circle and a
square are same. The ratio of the
side of the square and the
radius of the circle is

A) 1:7
(B) vm:1
C) 1:m

(D) More than one of the above
(E) None of the above

An equilateral triangle is made
by taking a copper wire. The
area of the triangle is
1213 cm?. If a circle is made

by taking the same wire, then its
area is

(A) 3645 cm?
(B) 6935 cm?
(C) 346'5 cm?

(D)
(E) None of the above

More than one of the above



83.

84.

85.

24 Fo o &, 14 To Ho =g AR
7-5 o o F= wAY H wrl Uy
B &

(A) 2520 @t "o o
(B) 1260 =t "o Ho
(C) 1242 =t "o Ho
(D) 39w | ¥ TH ¥ M
(E) 3udth # & #1$ T

5+ 1 mami

1
6+ 1
10+ —
18

(A) 5400

(B) 5200

(C) 4800

(D) 39y | ¥ TH ¥ M
(E) 3udth § & #1g T

TH JABR URh TN T
440 ™o 3| 3TF TR AR 9 IF i
e 14 Mo 7| TR 99 1 AH 7

(A) 168 Hio

(B) 169 Hio

(C) 144 #o

(D) 3w U | TH § Al
(E) Sudth # & #1$ T
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86. TH T # gyt HI @Al w
IUE 3:4:5 21 AR 3wk uRly
144 Fo ™o 7, a1 F1get =1 &a 2

(A) 684 = o o
(B) 764 @ o Hio
(C) 864 = o Hro
(D) 39w | ¥ TH ¥ M=
(E) 3w & @ 18 7

87. TF I1 AT UH o % &%l THH T
it H ST H gad kB ¥ eTgd
o

(A) 1:/n
(B) vJm:1
C) 1:m
(D) 39w | ¥ UH ¥ M
(E) 3ww & © 18 T
88. U did & TR Hl HISH UH HHATg
By s W g, e aawd
1213 =t Fo o 7| ARG S ar =

gl garhR L e S, @ 39 g«
T &AAHA BT

(A) 3645 = Ho Hro
(B) 693-5 @ o o
(C) 346-5 @ Yo o
(D) 39w | ¥ UH ¥ 1M+
(E) 3udth # & #1$ T

[P.T.O.



89.

90.

91.

If the length of a diagonal of a
rhombus is 80% of its other
diagonal, then the area of the
rhombus is x times the square
of the larger diagonal, where x is

2
(A) 5
4
(B) 5
1
(©) >

(D) More than one of the above

(E) None of the above

The area of the circle that can be
inscribed in a rectangle of length
10 cm and width 8 cm is

(A) 16mcm?
(B) 20m cm?
(C) 251 cm?

(D) More than one of the above

(E) None of the above

If 8 metallic balls of diameter
4 cm each are melted to form a
big ball, then the radius of the
big ball is

(A) 2 cm
(B) 4 cm
(C) 8 cm

(D) More than one of the above
(E) None of the above
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92.

93.

94,

If the purchasing price of 12
oranges is same as the selling
price of 9, then the percentage of
profit is

(A) 25

1
(B) 337
(C) 20

(D) More than one of the above

(E) None of the above

The
triangles  are

areas of two similar

2 and

81 cm
49 cm? respectively. The ratio of

their corresponding heights is

(A) 9:7
B) 7:9
(C) 48:81

(D) More than one of the above

(E) None of the above

The bases of a hemisphere and
a cone are same. If their heights
are also equal, then the ratio of
their curved surfaces is

(A) 1:42
(B) v2:1
(C) 1:2

(D) More than one of the above

(E) None of the above



89. IR wH WWagYS % TH foawul H TemE

90.

91.

T ool f <@g w1 80% ', Al
THAGYS 1 &9hd ae fokl o o @
x{[ﬂ%,ﬁﬁx%

2

(A

(B)

|

(C)

N | +—

(D) 39w | ¥ TH ¥ M
(E) 3T | ¥ *18
10 ¥o Mo @& T 8 Ho Wo HIR Tk

A % I 54 I H &T6A @
(A) 16m & Ho Ho

(B) 20m a7 o o
(C) 25m = o o
(D) 39y | ¥ TH ¥ M
(E) 3udth # & 18 T

Ife 4 Fo o =@ Tl 8 ifcares el
! et U oS 1 o918 TS, al oL
Tie & oo 2

(A) 2 o o

(B) 4 ¥o Hlo

(C) 8 Ho o

(D) 39w | ¥ TH ¥ M

(E) 37 & & 18 T
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92. IfT 9 ¥l &l fasa qou 12 ¥l &
%A A % SR g, Al awrd A g

(A) 25

1
(B) 337

(C) 20
(D) 3w W | TH § Afh

(E) 3w & 9 18 T
93. 31 THEY PAYSi % &ARA  HER:

81 = Fo Hio qAT 49 T Wo Hio 2|
3Teh! | el Rl U @

(A) 9:7

(B) 7:9

(C) 48:81

(D) 39w | ¥ UH ¥ M+
(E) 30 § & 1S T

94. Th Fglel 3N Tk TF h AR SR
2| afe k! Sareat off U §, @ 3%

I Bi 1 ITIA BT

(A) 1:42

(B) v2:1

(C) 1:2

(D) 3UYh | § TH ¥ Al
(E) 3ude d @ *iE T
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95. The diameters of the wheels
of a cycle are 66 cm and 72 cm.
If the bigger wheel rotates
1188 times to cover a fixed
distance, then the number of
times the smaller one will rotate
to cover up the same distance is

(A) 1356
(B) 1426
(C) 1296
(D) More than one of the above
(E) None of the above

96. The difference of prices by
selling a substance at profits 6%
and 4% is ¥ 3. Its purchase
price is
(A) ¥ 100
(B) ¥ 150
(C) 175
(D) More than one of the above
(E) None of the above

97. In a mixture of 200 litres, water

is 15% and rest milk. The
amount of milk to be added to
the mixture so that the amount
of milk in the mixture will be

87-5% is

(A) 30 litres

(B) 35 litres

(C) 40 litres

(D) More than one of the above

(E) None of the above
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98. A student instead of multiplying
a number by 0-72 multiplied it
by 7-2. In this multiplication,
he got 2592 more than
its correct value. The initial
number is
(A) 400
(B) 420
(C) 500
(D) More than one of the above
(E) None of the above

99. The ratio of incomes of A and B
is 2:3 and the ratio of their
expenditures is 1:2. If the
savings of each of them is
¥ 24,000, then the income of
A is
(A) ¢ 24,000
(B) ¥ 48,000
(C) ¥ 72,000
(D) More than one of the above
(E) None of the above

100. In a class, the boys are 12%

more than the girls over the
whole. The ratio of boys to the

girls is

(A) 11:14

B) 14:11

(C) 28:25

(D) More than one of the above

(E) None of the above

28 [ UHENN RO Amr Ao



95. T HIElhd o Tl & =™ 66 Ho Hio

96.

97.

T 72 Fo o | AT = Ul wh
fafrsd ff 7@ #= § 1188 a1 ¥HaT 7,
@ B aRy B T g B oA F A
foraft A =T BRmY

(A) 1356

(B) 1426

(C) 1296

(D) 39w | ¥ TH ¥ M
(E) Sudth § @ 1S T

Foret a%g 1 6% AT 4% AT | da=H
W foha goa 1 =) € 3 | 39 g
1 T o 2

(A) ¥ 100

(B) ¥ 150

(C) ¥175

(D) 3w U | UH A Afh
(E) 30 § & =+ T

200 effex fismn 4, 15% 9rt don =
39 g1 39 & FoRa SR AT Srel S,
aifer ufomdt fasor & 87-5% gy &
e ?

(A) 30 =X

(B) 35 wfie

(C) 40 =iz

(D) 39w | ¥ TH ¥ M
(E) Sudth # @ 1$ T
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98. fxe @& = 0-72 ¥ N & & a5

99.

100.

29 [ UHEER ORI Amr AR AT ETIO0n

s foeneff 9 3@ GEm @ 72 @ n
T fean) afe =o@ g I Ed W
2592 3fess ImEm B, a1 AR
T 2

(A) 400

(B) 420

(C) 500

(D) 39w H ¥ UH ¥ M+

(E) 37 | ¥ 18 e

A d B H 3T I 2:3 B
3R % = w1 U 1:2 B| AR
3T ¥ I it d=a © 24,000 &,
A AR

(A) ¥ 24,000

(B) ¥ 48,000

(C) ¥ 72,000

(D) 39w W | TH § AfUh

(E) 3w & & 18 7t

Tk eI § ASHI ohl GAT, AS(HAT ohl
T ¥ Fa e 12% fus R
ASH! h T F ASHAl FI wEN
3T 8

(A) 11:14

(B) 14:11

(C) 28:25

(D) 39w W | TH ¥ Al

(E) 3udth # & #1$ T
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101.

102.

103.

The ratio of simple interests
earned by a certain amount at
the same rate of interest for
6 years and that for 9 years is

(A) 3:2
B) 2:3
(C) 1:2

(D) More than one of the above

(E) None of the above

The number of years required
for a sum of ¥ 12,500 to become
T 17,500 at the rate of 10% per
annum is

(A) 4 years
(B) 1 year
(C) 2 years

(D) More than one of the above

(E) None of the above

The compound interest on a
sum of ¥ 25,000 after 3 years
at the rate of 12% per annum is

(A) ¥ 10,123:20

(B) ¥9,720

(C) ¥ 9,000-30

(D) More than one of the above

(E) None of the above
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104.

105.

106.

Pipe A can fill a cistern in
36 minutes and pipe B in
48 minutes. If both the pipes are
opened together and the cistern
is full in 24 minutes, then pipe
B is closed after

(A) 16 minutes
(B) 10 minutes
(C) 12 minutes
(D) More than one of the above

(E) None of the above

When a plot is sold for ¥ 18,700,
the owner loses 15%. In order to
gain 15%, the plot must be sold
for

(A) ¥ 25,800
(B) ¥ 22,500
(C) ¥ 25,300

(D) More than one of the above

(E) None of the above

If A and B can complete a work
in 8 days, B and C in 12 days,
C and A in 24 days, they can
complete the work working
together in

(A) 6 days
(B) 8 days
(C) 9 days

(D) More than one of the above

(E) None of the above



101. s fAfsa uft W 6 a9 3t 9 ad =

102.

103.

U T = @ W TS w9 S
1 I @

(A) 3:2

(B) 2:3

(C) 1:2

(D) 30w W | TH § AfUh
(E) Sudth § & #1$ T

N W 10% Afdead § Tk G
¥ 12,500 & ¥ 17,500 s+ & fau
ST 9] hi G &

(A) 4ad

(B) 1a9

(C) 2 a9

(D) 30w § | TH § Afh
(E) 393 o & 18 7

12% =<1 X ¥ 3 |1 & € 25,000
i afr | wwals = 2

(A) ¥ 10,123-20

(B) ¥9,720

(C) ¥ 9,000-30

(D) 39w H ¥ UH ¥ M+
(E) Sudth # & 1S T
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104.

105.

106.

T A U ThH @ 36 e T 2R
ugd B 48 fime @ W whar B Al
T I I THETY WAl ST 3T I
24 fie § W St 2, o 9gy B
fora T 9Te S W o =nRe?

A) 16 fime

(B) 10 e

(C) 12 fime

(D) 39w H ¥ UH ¥ M+
(E) 39 o | =I5 T

S T wie € 18,700 H &= WA 8,
a1 wifers 1 15% JHEH BT 21 15%
Y BRI % T welie i fohad 8
ST STHET =y ?

(A) 25,800

(B) ¥ 22,500

(C) ¥ 25,300

(D) 3w W | TH § AfUh
(E) 3w & @ 18 7t

etk FE w® A IR B 8 T #,
B3R C 12 f@i #2, ¢ 3k A 24 i
T U & 7, d dFl e e o
H T G R

A) 6T

(B) 8 f&

(C) 9T

(D) 30w W | TH § Al

(E) 37 & & 18 e

[P.T.O.



107. A quantity X is 25% more than

108.

109.

Y. The percent that Y is less
than X is

(A) 20%
(B) 25%
(C) 15%

(D) More than one of the above

(E) None of the above

Three pipes A, B and C can fill a
tank in 6 hours. After working
at it together for 2 hours, C is
closed, and A and B can fill the
remaining part in 7 hours. C can
alone fill the tank in

(A) 8 hours

(B) 10 hours

(C) 14 hours

(D) More than one of the above

(E) None of the above

A batsman scores 120 runs
which include 3 boundaries and
8 sixes. The percentage of his
total score by running between
the wickets is

(A) 40
(B) 50
(C) 60

(D) More than one of the above

(E) None of the above
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110.

111.

112.

1100 boys and 700 girls are
examined in a test. 42% of the
boys and 30% of the girls pass.
The percentage of total failed is

2
() 62
(B) 58
(C) 55

(D) More than one of the above

(E) None of the above

The area of a rectangle is
460 square metres. If the length
is 15% more than the breadth,
then what is the breadth of the
rectangle?

(A) 20 metres

(B) 15 metres

(C) 34-5 metres

(D) More than one of the above

(E) None of the above

The ratio of the outer and the
inner perimeters of a circular
path is 23:22. If the path is
5 metres  wide, then the
diameter of the inner circle is

(A) 55 metres

(B) 110 metres

(C) 220 metres

(D) More than one of the above
(E) None of the above



107. T& 960 X, Y& 25% 3 B, @ Y,

108.

109.

X ° %H g

(A) 20%

(B) 25%

(C) 15%

(D) 3w U | TH A Al
(E) Sudth # @ 1S T

dH ursd A, B 3R C U ZH Hl 6 =
T 9 Ghd &1 dHl 2 H THEATH HH
& 9E, C H =g fmam T qar A
HX B A 99 T AW H 7 B H W
fean| ¢ e1orar 3Ht 2 B W ghaT ®

(A) 8uH

(B) 102 #

(C) 14=2H

(D) 3w U | TH § Al
(E) Sudth # @ #1$ T

Th dga 4 120 @ sAm, 99 3
i 3R 8 & Wi 2| foekat & =
FreH 3% Pl T T Tfowrd 2

(A) 40

(B) 50

(C) 60

(D) 3w U | TH ¥ Afh
(E) 3udth # & 1S T
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110. T W&o #, 1100 @S 3 700

111.

112.

33 [N Rt AT

wefra & S A St 2, e A
TSHI N 42% I TSfHRA F 30%
I T | Pl STECA o foRTd 8

2
() 627

(B) 58

(C) 55

(D) 39w | ¥ TH ¥ 1M
(E) 3udth # & 1S T

Teh A 1 A% 460 o1 Hier 2|
Ife s e 4 15% ek 7, q
3T <hi =rers o 27

(A) 20 Hrex

(B) 15 HieX

(C) 345 Hi=

(D) 39w | ¥ UH ¥ M
(E) 3udth # & *1$ T

TH FARR 9 hl Al iR ofiad
uftfemi @1 eTga@ 23:22 71 AR U™
5 Hiw =gt 2, @ oFaie g9 @
=

(A) 55 HieX

(B) 110 #Hix

(C) 220 X

(D) 39w | ¥ TH ¥ M+
(E) 3udth # @& #1$ T
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113.

114.

115.

The radius of the circumcircle
of an equilateral triangle of side
12 cm is

(A) @ cm
3

(B) 44/2 cm

(C) +3 cm
3

(D) More than one of the above

(E) None of the above

The height of a right circular
cylinder is 14 cm and its curved
surface is 704 sq. cm. Its volume
is

(A) 1408 cm?
(B) 2816 cm?
(C) 5632 cm?

(D) More than one of the above

(E) None of the above

If the surface areas of two
spheres are in the ratio of 4 :25,
then the ratio of their volumes is

(A) 8:125
(B) 4:25
(C) 125:8

(D) More than one of the above

(E) None of the above
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116.

117.

118.

Which of the following numbers
has a non-terminating repeating
decimal expansion?

6
A J—
(A) 15
21
B) ——=
280
117
©) -
62 x5

(D) More than one of the above

(E) None of the above

If f(x)=ax2+bx+c has no real

zeroes and a+b+c<0, then

(A) c=0
B) ¢>0
(C) ¢c<O

(D) More than one of the above
(E) None of the above

If a, B, y are the zeroes of the
polynomial

f(x)=x3—px2+qx—r

1 1 1 .
then —+ —+ — is equal to

af By ya
A —

p
B 2
© -Z

(D) More than one of the above

(E) None of the above



113.

114.

115.

12 o Hio ST AT Teh GHATE B9
ufgs 1 e 2

(A) 4;5 o o

(B) 42 ¥o o
(©)

(D) 39w | ¥ UH ¥ 3+
(E) 3% § ¥ HIg T2

TF TG S I HAE 14 Fo Hio
2 311 g 9% I8 704 T o o |
IR A T

(A) 1408 =4 To o

(B) 2816 =4 o Hio

(C) 5632 = To o

(D) Y | § TF ¥ Al

(E) 3udth # & 1S T

Ffq 3 WAl % I TRl B I
4:25 %, d 3% AFH! T A
(A) 8:125

(B) 4:25

(C) 125:8

(D) 3w W | TH § Afh

(E) 3udth # & 1S T
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. ffafea 4 @ fFe @@= & s@m

ITad] TymHeE TER 27
6
(A) s

21
B) ——=
280
117
62 x 53

(D) 39w | ¥ UH ¥ M+
(E) 394w & & I8 T

(C)

. Afg f(x)=a.x2+bx+c Al

ElSIEED I T 2 3 a+b+c<0
g,

(A) ¢=0

B) ¢>0

(C) c¢<O0

(D) 3 U | UH ¥ Al
(E) 3w & @ 18 7t

. AR o, B, y TEUR

f(x)=x3—px2+qx—r

1 1 1

%W%’?ﬁ@-km*-yiawm%
a) —
p
B =
© -2

r

(D) 39w H ¥ UH ¥ M+
(E) 37 & ¥ 18 e
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119. The =zeroes of the quadratic

120.

121.

polynomial
flx)=x2+99x+127

are
(A) both positive
(B) both negative

(C) one positive
negative

and one

(D) More than one of the above
(E) None of the above

If the pair of linear equations
Bk+1)x+3y-5=0 and
2x-3y+5=0

has infinite number of solutions,
then the value of k is

A) 1
(B) 0
(C€) -1

(D) More than one of the above
(E) None of the above

If
g+§=13and§—i=—2
Xy Xy

then x+y equals
1

A -

A

1

B P

B ¢
5

C —

© 7

(D) More than one of the above

(E) None of the above
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122.

123.

124.

The pair of linear equations
y=0 and y =-5 has

(A) one solution

(B) two solutions

(C) infinitely many solutions
(D) More than one of the above

(E) None of the above

If ¢ and d are roots of the
equation

(x—a)(x-b)-k=0

then a, b are roots of the

equation

(A) (x-c)(x-d)+k=0

B) (x-c)(x-d)-k=0

C) (x-a)(x-c)+k=0

(D) More than one of the above

(E) None of the above

The number of real roots of the
equation

x-1%+(x-2%+x-3)2=0

is

A) 1
(B) 2
C) 3

(D) More than one of the above

(E) None of the above



119. fgEma sgue 122. aw @O H S y=0 3R

F(x)=x2+99x+127 y=-5
— (A) ?ﬂ@%ﬁ%
(A) 2FT GeTeEE (B) FA 72
(B) <HI FoMTcHS (C) o 3Td &9 ¥ 3 gl &
(C) TH &HTH® 37 T FOTcHE (D) 30w § & 0 § s
(D) 374w # ¥ T ¥ Al . :
. E 4 Y g T
E) T 32 2 (E) 3T
120. 3fs Rask aefiemon 123. i ¢ 3R d aHfiewm
Bk+1)x+3y-5=0 3R (x-a)x-b)-k=0
2x-3y+5=0
o . % qd ¥, @ a, b fFu e &
&I S A 3 §A &, dl k B UM B e 87
(A) 1 B
B) 0 A) (x—c)(x-d)+k=0
(C) -1 (B) (x—c)(x-d)-k=0
(D) 30w W | TH § AfUh (C) (x-a)(x-c)+k=0
(E) 30 & & g Tl (D) v & & T F s
121. =fg (E) 3w § | wI5 T
2.3 13 e 222
X y x y 124. @i
&, @ty R E (k-2 +(x-22+(x-3°2=0
@) - o
6 % AT gl hl T 2
_1 A) 1
(B) e (A)
(B) 2
© 2
(C) 3
(D) 30w W | TH ° AfUeh (D) 39 U | UH A Al
(E) 3w & & g T (E) 393t & & g T
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125. The sum of n terms of the series

126.

127.

N2 +/8+/18++/32+ ...
is
nn+1)
(A) N
nn+1)
(B) —
(C) 2n(n+1)

(D) More than one of the above

(E) None of the above

The coordinates of the fourth
vertex of the rectangle formed by
the points O(0,0), A2, 0 and
B(0, 3) are

(A) B, 0)

(B) 0,2

€ 73

(D) More than one of the above

(E) None of the above

If D(1,2), E(4 -3), F(—2,4) are
midpoints of the sides BC, CA,
AB respectively of AABC, then
the coordinates of the centroid
of AABC are

A) (1, 1)
(B) (1,0)
€ (1,2)

(D) More than one of the above

(E) None of the above
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128.

129.

130.

If the points A(a?,0), B(0, b?)
and C(L, 1) are collinear, then

(A) l+l=1
a b

(B) a’+b?=1

© 5+

=1
a® b2

(D) More than one of the above

(E) None of the above

AABC is such that AB =3cm,
BC=2cm and CA=2-5cm. If
AABC ~ADEF and EF =4cm,
then the perimeter of ADEF is

(A) 75 cm
(B) 15 cm
(C) 30 cm
(D) More than one of the above

(E) None of the above

In AABC, /B =90° BD1 AC. If
AC =9cm and AD =3 cm, then
BD is equal to

(A) 2v2 cm
(B) 2v3 cm
(C) 3v2 cm
(D) More than one of the above

(E) None of the above



125. 9vff V2 +/8+418+32+.. F n 128. #f fig A(a% 0), B(0,b?) 3

e = & C (1, 1) deet £,
nn+1) 1.1
W =5 A) 4=
(B) n(n;l) B) a’+b%=1
1 1
C) —t—=1
(C) 2n(n+1) a® b2
(D) 3Ww & ¥ wh o Atk (D) 3Ww & ¥ wh ¥ Afeeh
(B) 37 d ¥ #1E TEl (E) 3w @ 9 g T

129. AABC 38 YR g T AB = 3 o o,

126. f5 0(0,0), A2, 0) 3R B(0, 3) & sH BC 20 o 3 CA=2.5 3o o |

A < 3 e @ af¢  AABC ~ADEF 3R EF =
A) 30 4 Qo Hio 7, A1 ADEF %1 UiHT™
(B) 0,2 (A) 7-5 o Ho

© 23 (B) 15 Ho Hio

(D) 39w H ¥ TH ¥ M+ (C) 30 Wo o

(E) 39w & & &g T (D) 37§ & @ aferen

(E) 3w & © 18 T
127. I D(1,2), E(4,-3), F(-2 4)
FHI: AABC & §=sit BC, CA, AB 130. AABC#, /B=90° BD1 AC ®|3fe

% meafag &, @ AABC % 3% & AC =9 o Ho 3R AD =3 Ho Hio
[RERUCT g, dl BD SR @

(a) (L, 1) (A) 242 Ho o

B) (10) (B) 2+/3 o o

(€) (12) (C) 32 Fo o

(D) ST @ | Tk @ wAfern (D) ST § & T & e

(E) 3w H © *1g T (E) 3w § & 15 T
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131. If in two triangles DEF and PQR,

/D=/Q and /R-=/E,

true?
DE EF
B Zo=n
PQ RP
EF DF
B —o=os
PR PQ
DE DF
© o=
QR PO
(D) More than one of the above
(E) None of the above
132. If PA and PB are two tangents
to a circle with centre O such
that ZAOB =110° then LAPB is
equal to
(A) 60°
(B) 70°
(C) 80°
(D) More than one of the above
(E) None of the above
133. The length of the tangent AP,

from an external point A is
If the distance of the
point A from the centre O of
the circle is 25 cm, then the

24 cm.

diameter of the circle is

(A) 15 cm

(B) 14 cm

(C) 7 cm

(D) More than one of the above
(E) None of the above
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then
which of the following is not

40

134. PT is a tangent to the circle at
a point T and PAB is a secant
to the circle. If PA=9cm and

AB =7 cm, then PT is equal to

(A) 12 cm

(B) 16 cm

(C) 9 cm

(D) More than one of the above
(E) None of the above

135. From a point P which is at
a distance 13 cm from the
centre O of a circle of radius
S cm, the pair of tangents PQ
and PR to the circle is drawn.

The area of the quadrilateral

PQOR is
(A) 60 cm?
(B) 65 cm?
(C) 30 cm?
(D) More than one of the above
(E) None of the above
136. If 0<A, B<90° such that
SinA = 1 and cosB = 1, then
2 2
A+ B is equal to
(A) 0°
(B) 60°
(C) 90°
(D) More than one of the above
(E) None of the above

137. If tan2A=cot(A+60°), where
2A is an acute angle, then the

value of A is

(A) 10°

(B) 20°

(C) 60°

(D) More than one of the above
(E) None of the above



131. 3t & fysi DEF ¥R PQR #

132.

133.

/D=/Q 3" /R=/E %, @@
frefefaa 9 @ @F-u1 w7 27
DE EF

® o=
Q RP

EF _DF

(B) R - PO
Q

DE _ DF

QR PQ

(D) 39w H ¥ TH ¥ M
(E) 3ww & © 18 T

(C)

Ifd PA 3R PB %= O al ga i al
Toyi-tEd 8, 59 5 LAOB =110° %,
q L/ APB SR 2

(A) 60°

(B) 70°

(C) 80°

(D) 39w | ¥ TH ¥ M
(E) 3w & & 18 7t

foreft amet fog A @ wi-T@n AP #
TaTE 24 To o 7| AR I F FF O
o fog A# g 25 Fo Hio B, A I W
= 7

(A) 15 To o

(B) 14 Ho o

(C) 7 Wo Hto

(D) 39w | ¥ TH ¥ M
(E) 3udth # ¥ #1$ T
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134

135.

136.

137.

g T ® Pr g9 i wei-@n ?
3R PAB 39 * Bak @l W
PA =9 To Ho 3R AB =7 Wo o ¥,
@ PT o0& §

(A) 12 To o

(B) 16 Ho o

(C) 9 @o Hto

(D) 39w | ¥ TH ¥ M

(E) 3T | ¥ 18 e

% fog P @, S 5 Qo o P ama
T Td F e O ¥ 13 Wo dlo #1 gl
W B, 9 W W@ PQ I PR H
gm ©=n S 2| 9ggs PQOR W
&% §

(A) 60 = To o

(B) 65 @ Ho o

(C) 30 @t To o

(D) 39w | ¥ UH ¥ M+

(E) 39 § & H1E T

e 0<A, B<90° W ¥ f*

sinA:; 3R cosB:;, a A+B

TR B

(A) 0°

(B) 60°

(C) 90°

(D) 3w W | TH § Afeh
(E) 3w & © 18 T

Ife tan2A =cot(A+60°) ¥, &l
2A UF TR, A A F A &

(A) 10°

(B) 20°

(C) 60°

(D) 39w | ¥ UH ¥ i

(E) 37 & ¥ 18 e
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138.

139.

140.

141.

If sinB+cosB = \Ecose, 0 = 90°,
then tan9 is

(A) V2+1
B) 2
(C) v2-1

(D) More than one of the above
(E) None of the above

The value of

cos? 0+ _
1+cot? 6
is
(A) O
(B) 1
€ 2

(D) More than one of the above

(E) None of the above

If sin9+cose=\5,
tan6+cotB is

then

A) 1
(B) 2
C€) 3

(D) More than one of the above

(E) None of the above

If

cos220°+ cos?70° 2

2(sin®59°+sin?31°) k

then k is equal to

(A) 3
(B) 1
(€) 4

(D) More than one of the above

(E) None of the above
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142.

143.

144,

The radius of a circle whose
circumference is equal to the
sum of the circumferences of the
two circles of diameters 36 cm
and 20 cm is

(A) 56 cm

(B) 42 cm

(C) 28 cm

(D) More than one of the above
(E) None of the above

If a solid sphere with total

2 is bisected

surface area 48 cm
into two hemispheres, then the
total surface area of any one of

the hemispheres is

(A) 48 cm?
(B) 36 cm?
(C) 24 cm?

(D) More than one of the above
(E) None of the above

A solid consists of a circular
cylinder surmounted by a right
circular cone. The height of the
cone is h. If the total volume of
the solid is 3 times the volume of
the cone, then the height of the
circular cylinder is

2h
A -
® 3
(B) 2h
3h
C _
© 3
(D) More than one of the above
(E) None of the above



138.

139.

140.

141.

Ife sinB+cosB = \ECOSG, 0 # 90°
2, dl tan® &1 A9

A) J2+1

(B) 2

(C) v2-1

(D) 39w H ¥ TH ¥ M
(E) 3udth # & 1S T

cos20+ HHE B

1+cot? 9
(A) O
(B) 1
(C) 2
(D) 39w | ¥ TH ¥ M
(E) 3udth # & 1S T

Ife  sinO+cosO =42 %, ar

tan6+coth g

A) 1

(B) 2

(C) 3

(D) 39w H ¥ UH ¥ M
(E) 3udth # & 1S 7

It

cos?20° + cos?70° 2

2(sin259° + sin231°) k
2, dl k SR

A) 3

(B) 1

(C) 4

(D) 3w U | TH A Al

(E) Sudth # @ #1$ T
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142. TF Fa h B, SR Oy

36 Ho Hio 3T 20 To Ho =M™ AT a1
It 1 afefRE % I %k R B, ©

(A) 56 o Ho

(B) 42 o Ho

(C) 28 o Hro

(D) 39Y® | ¥ TH ¥ M=
(E) 3udth § & %1$ T

. T 487 Ho o FaA UB &% aTcl

TS 3 M A & MeATE § i
o Strr 7, 1 TRl s g T P
UY &% 8

(A) 48 Tt o o

(B) 36 @ Ho o

(C) 24 @t o o

(D) 39w | ¥ UH ¥ M+
(E) 39 d | =I5 T

. UH 39 W, AR Sod Bdl g ek

SW TH AAHE A A Bl TP b
39 h R A 3 H FA T TP
% IR H 3 TAT 8, A IARR oo
1 F=rg 7

2h

(A) 3
(B) 2h

3n

©)

(D) 39w | ¥ TH ¥ M=
(E) 37 & & 18 T

43 (NI nnmieneagmm - p.r.o.



145.

146.

147.

If the arithmetic mean of first n
natural numbers is 15, then n is
equal to

(A) 14
(B) 15
(C) 29

(D) More than one of the above
(E) None of the above

If the difference between mode
and median of a data is 24, then
the difference between median
and mean is

(A) 12
(B) 24
(C) 8

(D) More than one of the above

(E) None of the above

If a wvariable takes discrete
values x+ 4, x—z, x—§, x -3,
2 2
1 1
x-2, x+-, x——, x+5, x>0,
2 2
then the median of the data is
5
A) x-——
(A) 5
5
B) x-——
B) x—
5
C) x——
© x-

(D) More than one of the above

(E) None of the above
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148.

149.

150.

If Radha deposits ¢ 800 in
short-term deposit in a bank for
73 days at the rate of 7;% per
annum, then how much interest

will she get?

A) T8
(B) ¥ 10
(C) ¥ 12

(D) More than one of the above

(E) None of the above

On a sum of money, the simple
interest for 2 years is ¢ 660,
while the compound interest is
¥ 696:30, the rate of interest
being the same in both the
cases. The rate of interest is

(A) 10%
(B) 10-5%
(C) 12%

(D) More than one of the above

(E) None of the above

Find the discount equivalent to
successive discounts 20%, 10%,
5% of the invoice.

(A) 316%
(B) 684%
(C) 35%

(D) More than one of the above

(E) None of the above
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146.

147.

I TOW n WHfde  G@Eded &
BT AT 15 2, @ n R 2

A) 14
(B) 15

(C) 29

(D) 3w U | TH A Al
(E) 3w & & 18 7t

Fie FrEl atforg % wga R miferEm
HT A 24 7, ql AR 3T AT A1
AW B

(A) 12

(B) 24

C€) 8

(D) 39w | ¥ TH ¥ M

(E) 37 & & 18 T

: 7
Ife ®E =W FFAd TF x + 4, X =2

x-3, x-2, x+£ x—%
2 2

X+5, x>0 a1 g, a1 ksl 6
HferhT &

(A).x—g

X—=

5
(B) x“g

5
€ x-7

(D) 39w H ¥ UH ¥ M+
(E) 37 & ¥ 18 e
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148.

149.

150.

45 WOy

Ife [T T STUE™ SHT & A
¥ 800, 73%%%@7;%%@?

S H W W Sk § S| AT, a3
Toramn =t forerm?

(A) T8

(B) €10

(C) T12

(D) 30w W | TH § Afh
(E) 3udth # & 1g T

foreft gofr w2 aut & fow wmemo
e T 660 2, TEh Awgg AW
¥ 696-30 T, T Al H S 6 K
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